College Algebra — Joysheet 6 Name: S;«wﬁ O(Ze,m
MAT 140, Spring 2016 — D, Ivansié Covers: 2.1, 2.2, 2.8 Show all your work!

1. (10pts) Use your calculator to accurately sketch the graph of the funetion

flz) = |z+ 7| /z. Draw the graph here, indicate units on the axes, and solve the problems
below with accuracy 6 decimal points.

a) Find the local maxima and minima for this function.

b} State the intervals where the function is increasing and where it is decreasing.
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2. (20pts) Let f(x) =2z + 7, g(z) = ﬁ Find the following (simplify where
possible): 7.0
(F -9 = () ~5(1) =g -~ m- v (f9)(-2) =4() 'ﬁ"f"i,’fﬁ (=10 -14
»342= B i
41 e =20
g ¥, R
7@ = 9( L. B (fog)(2)= ﬁ(;(t ﬂﬂmﬂﬁ) { u)
(
(1) 28y o adt deficd h&&p‘
v | Uyt

e gy (k14 )Yae?
P %) = 2 2 2 21(‘1“!?
@@= o( g, - Ei( D V2xr7

b 5 a4 2%~7+ 53y

= 2}(47 | Wﬂ-ﬂdﬂ&:_ .g_
The domain of (fg)(x) in interval notation Ittt s Sroe i Tt OL L g

._—P—WMW
DGMWH ﬂﬁE i[ﬂ: rewsT he ’Dc""“*“:"*- “454 Ty 2 1 {_?
24720 Con't hoe, By
e X3$-1420  Dewan A 450
2-7  @N)E=0  [-12)0(2,)
" L




3. (8pts) Consider the function h(z) = v/z? + 5. Find functions f and g so that h(z) =
f(g(x)). Find two different solutions to this problem, neither of which is the “stupid” one.
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4. (8pts) Sketch the graph of the
piecewise-defined function:
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5. (14pts) A self-storage business is adding a 1000-square-foot building with two large units
that share a wall and have openings on opposite sides (see picture). They wish to minimize
the total length of the walls.

a) Express the total length of the walls of the building as a function of the length of one of
the sides . What is the domain of this function?

b) Graph the function in order to find the minimum. What are the dimensions of the building
for which the total length of the walls is minimal?
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